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1   Introduction
This is the corresponding TP for the following CB:
CB: # 81_IAB_failure
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2   TP for 38.874
9.x Topology Adaptation
9.x.y Failure recovery
9.x.y.1 Scenarios
Due to various reasons, different scenarios of link failure may happen in IAB network. In the following, some example scenarios are illustrated for the link failure. Each scenario is depicted with an illustrative figure aiming at establishing the route between donor and node D after some failures, where: 

· node A1 and node A2  are the IAB donor nodes, others are IAB nodes
· the blue dash line represents the established connection between two nodes;
· the red arrow represents the established route after failure, where the red dash line represents the new established connection.  
Scenario 1

In this scenario (depicted in Figure 9.x.y-1), the link failure occurs between one of the parent IAB nodes (e.g., node B) and the child IAB node (e.g., node C), but the child node has an additional link established to another parent node. 
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Figure 9.x.y-1: Example failure scenario 1
Scenario 2

In this scenario (depicted in Figure 9.x.y-2), the link failure occurs between all parent IAB nodes (e.g., nodes B and E) and the child IAB node (e.g., node C). The child node has to reconnect to a new parent node (e.g., node F, and the connection between node F and node C is newly established). 
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Figure 9.x.y-2: Example failure scenario 2
Scenario 3

In this scenario (depicted in Figure 9.x.y-3), the link failure occurs between node C and node D . The node D has to reconnect to the new IAB donor (e.g., node A2) via a new route. 
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Figure 9.x.y-3: Example failure scenario 3
Scenario 4
In this scenario (depicted in Figure 9.x.y-4), the link failure occurs between nodes C and D. The node D has to reconnect to a new parent node (e.g., node I), which is previously acted as child node of node D.
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Figure 9.x.y-4: Example failure scenario 4[image: image5.png]



